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GENERAL SCIENCE SSC-lI
(For Hearing Impaired Children)
SECTION - A (Marks 15

Time allowed: 20 Minutes

NOTE:- Section—A is compulsory. Ail parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct optioni.e. A/ B/ C/D. Each part carries one mark.

(i) During digestion, proteins are broken into:

A Glucose B. Sucrose C. Glycerol D. Amino acid
(i) The shape of WBC is:

A. Circular B. Oblong C. Rod like D. Irregular
i) Ozone Layer exists above the earth about:

A 25 km B. 30 km C. 35 km D 40 km
(iv) L.and covered with forests in Pakistan is:

A. 3% B. 5% C. 7% D. 9%
(V) The unit of electric charges is:

A Ohm B. Ampere C. Coloumb D. Watt
(vi) The material through which x-rays can pass is:

A Bones B. Plastic C. Iron D. Lead
(vii) The number of Protons in oxygen atom are.

A. 16 B. 14 C. 8 D. 6
(viii) A rocket which is used for space exploration consists of:

A 5 stages B. 2 stages C. 3 stages D. 4 stages
(ix) Pakistan's first satellite Badar-l was sent into space in:

A. 1980 AD B. 1985 AD C. 1990 AD D. 1995 AD
(x) Semi solid food should be started to babies after the age of:

A. 3 months B. 4 months C. 5 months D. 6 months

(xi) How much calories are present in 100 gms of potatoes?

A 50 calories B. 70 calories C. 80 calories D. 100 calories
(xiiy Al the following types of food provide energy except:

A Potato B. Mitk - C. Egg D. Water
(xiii) A person with blood group B has following antigens: *

A Antigen A B. Antigen B C. Antigen A& B D. None of these
(xiv)  Which fraction or product of petroleum is used in cars as fuel?

A Petrol B. Keroseneoll C. Diesel D. Lubricating oil
(xv) How many isotopes does Hydrogen have?
A 2 B. 3 C. 4 D. 1
For Examiner's use only:
Total Marks: 15
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Time allowed: 2:40 Hours

GENERAL SCIENCE SSC-II

(For Hearing impaired Children)

Cr

Total Marks Sections B and C: 60

NOTE:- Answer any twelve parts from Section ‘B’ and any two questions from Section ‘C’ on the
separately provided answer book. Use supplementary answer sheet l.e. Sheet-B if required.
Write your answers neatly and legibly.

Note:
Q.3
Q.4
Q5
Q.6

Attempt any TWELVE parts. The answer to each part should not exceed 2 to 3 lines.

(i}
(it}
(iii)
(iv)
v)
{vi)
(vii)
{viii)
(ix)
(x)
(x)
(xii)
(xiti)
(xiv)
(xv)
(xvi)
(xvii)

(xviii)

Answer any THREE questions in 3 to 5 lines. Aii questions carry equal marks.

SEC =B (K 6

Describe the composition of human blood.

What are the main components of human food? .

Define atmosphere and name different layers of atmosphere.
What is air pollution’?

Describe mechanization in agriculture sector of Pakistan.
Describe some of the dangers common while using electricity.
Why are fuses used in electric circuits?

What is the behavior of a capacitor in A.C and D.C circuit?
How is laser different from ordinary light?

What does LASER stand for?

What do you understand by CT scan?

What is the importance of ECG?

What are optical fibers?

Name some of the diseases diagnosed by uitrasound.

What do you understand by the nuclear program of Pakistan?
How does a rocket work in space?

Which machine is used at airport for security?

Describe green house effect.

SECTION — 24

Describe some important industries of Pakistan.

Mention some of the achievements of Pakistan in space research.

What is a transformer and how does it work?

What are the basic principles of first aid?
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